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1. ,y- lh- lh- ¼Hkwfe {kerk oxZ½ 8 fdl jax ls 

lEcfU/kr gS \ 

 
1. LCC (Land Capability Class) 8 is denoted 

by which color ? 

(A) gjk  (A) Green 

(B) ihyk  (B)  Yellow 

(C) yky  (C)  Red 

(D) uhyk  (D)  Blue 

2. vfr lw{e d.kksa dk vijnu fdlds dkj.k 

gksrk gS \ 

 
2. Erosion of very fine particles is seen on 

account of : 

(A) mNy&dwn ukp  (A) Saltation 

(B) lrg jsaxuk  (B)  Surface creep 

(C) Vhyksa dk LFkkukarj.k  (C)  Shifting of dunes 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. dsUnzh; ‘kq”d {ks= vuqla/kku laLFkku dgk¡ ij 

fLFkr gS \ 

 
3. Central Arid Zone Research Institute is 

located at : 

(A) tks/kiqj  (A) Jodhpur 

(B) ukfld  (B)  Nasik 

(C) t;iqj  (C)  Jaipur 

(D) chdkusj  (D)  Bikaner 

4. gok vkSj ikuh feV~Vh ds {kj.k esa yxHkx 

fdrus izfr’kr dk ;ksxnku djrs gSa \ 

 
4. Wind and water almost contribute what 

percentage of soil degradation ? 

(A) 50%  (A) 50% 

(B)  70%  (B)  70% 

(C)  80%  (C)  80% 

(D)  60%  (D)  60% 
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5. fuEufyf[kr esa ls dkSu&lk gok ds dVko dk 

,d pj.k gS \ 

 
5. Which of the following is a stage of wind 

erosion ? 

(A) mNy&dwn  (A) Saltation 

(B) fuyacu  (B)  Suspension 

(C) ijr jsaxuk  (C)  Surface creep 

(D) mi;qZDr lHkh  (D)  All of the above 

6. nks dkjd lh/ks {kj.k dks izHkkfor djrs gSa % 
 

6. Two factors directly influence the erosion : 

(A) rkieku vkSj vknzZrk  (A) Temperature and humidity 

(B) vknzZrk vkSj lkSj fofdj.k  (B)  Humidity and solar radiation 

(C) rkieku vkSj gok dk osx  (C)  Temperature and wind velocity 

(D) o”kkZ vkSj gok dk osx  (D)  Precipitation and wind velocity 

7. NksVs tylaHkjksa ds fy;s forj.k vuqikr gksxk % 
 

7. Delivery ratio for small watersheds will 

be : 

(A) de  (A) Less 

(B) vf/kd  (B)  More 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

8. lh<+hnkj [ksrh e`nk laj{k.k dh ,d izHkko’kkyh 

fof/k gS % 

 
8. Terracing is an effective method of soil 

conservation in : 

(A) e#LFkyh; {ks= esa  (A) Desert areas 

(B) eSnkuh {ks= esa  (B)  Plains 

(C) igkM+h {ks= esa  (C)  Hilly areas 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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9. fuEufyf[kr esa ls fdl feV~Vh dks vyx djus 

dh {kerk vf/kd gS \ 

 
9. Which of the following soil separates has 

more erodability ? 

(A) jsr  (A) Sand 

(B) xkn  (B)  Silt 

(C) feV~Vh ¼Dys½  (C)  Clay 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

10. lkoZHkkSfed e`nk gkfu lehdj.k  

¼, = vkj- ds- ,y- ,l- lh- ih-½ esa] ih gS % 

 
10. In universal soil loss equation (A = RKL 

SCP), P is : 

(A) pjkxkg izca/ku fØ;k,¡  (A) Pasture management practices 

(B) Qly izca/ku fØ;k,¡  (B)  Crop management practices 

(C) e`nk laj{k.k fØ;k,¡  (C)  Soil conservation practices 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. leksPp js[kkvksa okys ekufp= dgykrs gSa % 
 

11. Maps having contour lines are known  

as : 

(A) Vksiks’khV~l  (A) Toposheets 

(B) fxzM uD’kk  (B)  Grid map 

(C) daVwj uD’kk  (C)  Contour map 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

12. ou {ks= esa okVj’ksM dk izca/ku gS@gSa % 
 

12. Managing watershed in forest area is/are : 

(A) e`nk laj{k.k vkSj ck<+ fu;a=.k ds fy;s 

vH;kl 

 (A) Practices for soil protection and 

flood control 

(B) ikuh dh iSnkokj c<+kus ds fy, vH;kl  (B)  Practices for increasing water yield 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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13. ,u- ch- ,l- ,l- ,y- ;w- ih- dk eq[;ky; 

fLFkr gS % 

 
13. Headquarters of NBSSLUP is situated at : 

(A) nsgjknwu esa  (A) Dehradun 

(B) ukxiqj esa  (B)  Nagpur 

(C) fnYyh esa  (C)  Delhi 

(D) dkuiqj esa  (D)  Kanpur 

14. okVj’ksM pØ ds ewy ?kVd gSa % 
 

14. The basic components of watershed cycle 

are : 

(A) ruk izokg  (A) Stem flow 

(B) iwjh rjg ls fxjkoV  (B)  Thorough fall 

(C) o”kZ.k  (C)  Precipitation 

(D) mi;qZDr lHkh  (D)  All of the above 

15. okVj’ksM izca/ku esa iz;qDr fu;e vkSj ifjHkk”kk,¡ 

gSa % 

 
15. The terms and definitions used in 

watershed management are : 

(A) ,fYcMks  (A) Albedo 

(B) tyks<+ ia[ks  (B)  Alluvial fans 

(C) ,Y;wfo;e  (C)  Alluvium 

(D) mi;qZDr lHkh  (D)  All of the above 
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16. feV~Vh dk dVko fdlds dkj.k gksrk gS \ 
 

16. Soil erosion is caused due to : 

(A) rsth ls ‘kgjhdj.k  (A) Rapid urbanization 

(B) isM+ksa dh dVkbZ  (B)  Cutting of trees 

(C) tkuojksa }kjk vR;f/kd pjkbZ  (C)  Overgrazing by animals 

(D) mi;qZDr lHkh  (D)  All of the above 

17. dVko dh vuqefr nsus okyh Qly gS@gSa % 
 

17. Erosion permitting crop(s) is/are : 

(A) eDdk  (A) Maize 

(B) xsgw¡  (B)  Wheat 

(C) cktjk  (C)  Bajra 

(D) mi;qZDr lHkh  (D)  All of the above 

18. Hkkjrh; lqnwj laosnu laLFkku dk eq[;ky; 

fLFkr gS % 

 
18. Headquarters of Indian Institute of 

Remote Sensing is situated at : 

(A) gSnjkckn esa  (A) Hyderabad 

(B) jk¡ph esa  (B)  Ranchi 

(C) nsgjknwu esa  (C)  Dehradun 

(D) fnYyh esa  (D)  Delhi 

19. Hkwfe {kerk oxhZdj.k ;kstuk esa Hkwfe {kerk oxks± 

dh dqy la[;k gS % 

 
19. Total number of land capability classes in 

the land capability classification scheme 

is : 

(A) ukS  (A) Nine 

(B) vkB  (B)  Eight 

(C) lkr  (C)  Seven 

(D) N%  (D)  Six 
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20. ckfj’k dh cw¡n dk tehu ls Vdjkrs le; 

vf/kdre izHkko fdl dks.k ij gksxk \ 

 
20. The maximum impact of the raindrop will 

be at what angle when it hits the ground ? 

(A) 45°  (A) 45° 

(B)  30°  (B)  30° 

(C)  90°  (C)  90° 

(D)  180°  (D)  180° 

21. fuEufyf[kr esa ls dkSu&lk ty vijnu dk 

izFke pj.k gS \ 

 
21. Which one of the following is the first 

stage of water erosion ? 

(A) fjy vijnu  (A) Rill erosion 

(B) ‘khV dVko  (B)  Sheet erosion 

(C) LIyS’k {kj.k  (C)  Splash erosion 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

22. e`nk vijnu fuHkZj djrk gS % 
 

22. Rate of soil erosion depends on : 

(A) o”kkZ dh rhozrk ij  (A) Intensity of rainfall 

(B) feV~Vh ds <yku ij  (B)  Slope of soil 

(C) e`nk vkSj ouLifr ds izdkj ij  (C)  Type of soil and vegetation 

(D) mi;qZDr lHkh  (D)  All of the above 

23. CSWCRTI dh LFkkiuk fdl o”kZ gqbZ Fkh \ 
 

23. CSWCRTI was established in which year ? 

(A) 1974  (A) 1974 

(B)  1958  (B)  1958 

(C)  1985  (C)  1985 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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24. e`nk vijnu dks fdlds }kjk de fd;k tk 

ldrk gS \ 

 
24. Soil erosion can be reduced by : 

(A) ck¡/k cukdj  (A) Making dams 

(B) vR;f/kd pjkbZ dks de djds  (B)  Reducing overgrazing 

(C) mfpr ikS/ks yxkdj  (C)  Planting proper plants 

(D) mi;qZDr lHkh  (D)  All of the above 

25. ty vijnu gksrk gS % 
 

25. Water erosion is a : 

(A) ,d rjg dh izfØ;k  (A) One-way process 

(B) nks rjg dh izfØ;k  (B)  Two-way process 

(C) rhu rjg dh izfØ;k  (C)  Three-way process 

(D) mi;qZDr lHkh  (D)  All of the above 

26. ok;q vijnu ds nkSjku e`nk ds d.kksa dh 

lokZf/kd xfr fdlds dkj.k gksrh gS \ 

 
26. The highest movement of soil particles 

during wind erosion is due to : 

(A) fuyacu  (A) Suspension 

(B) lkYVs’ku  (B)  Saltation 

(C) lrg jsaxuk  (C)  Surface creep 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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27. Hkkjr ds fdl Hkkx esa vf/kd dVko dh leL;k 

gS \ 

 
27. Which part of India has more erosion 

problems ? 

(A) mŸkj Hkkjr  (A) North India 

(B) mŸkj&iwoZ Hkkjr  (B)  North-East India 

(C) nf{k.k Hkkjr  (C)  South India 

(D) e/; Hkkjr  (D)  Central India 

28. viokg rc gksrk gS tc % 
 

28. Runoff takes place when : 

(A) o”kkZ dh nj ¼ih½ ok”ihdj.k ls vf/kd 

gksA 

 (A) Rate of precipitation (P) is more 

than evaporation. 

(B) ih dh nj ?kqliSB ls vf/kd gksA  (B)  Rate of P is greater than infiltration. 

(C) ok”ihdj.k ?kqliSB ls vf/kd gksA  (C)  Evaporation is greater than 

infiltration. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. Hkwfe {kerk oxhZdj.k ;kstuk esa oxZ V, VI vkSj 

VII fdlds fy;s mi;qDr gSa \ 

 
29. Inland capability classification schemes 

the classes V, VI and VII are suitable for : 

(A) [ksrh djuk  (A) Cultivation 

(B) pjkxkg vkSj pjkbZ  (B)  Pasture and grazing 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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30. ouksa dh dVkbZ dk dkj.k gksrk gS % 
 

30. Deforestation causes : 

(A) e`nk vijnu  (A) Soil erosion 

(B) iznw”k.k  (B)  Pollution 

(C) dksbZ ck<+ ugha  (C)  No floods 

(D) mi;qZDr lHkh  (D)  All of the above 

31. feV~Vh ds dVko dks dSls ekik tk ldrk gS \ 
 

31. How can soil erosion be measured ? 

(A) n`’;  (A) Visual 

(B) ‘kkjhfjd  (B)  Physical 

(C) jklk;fud  (C)  Chemical 

(D) mi;qZDr lHkh  (D)  All of the above 

32. ukyh dk dVko fdldk vfUre pj.k gS \ 
 

32. Gully erosion is an advance stage of : 

(A) fjy vijnu  (A) Rill erosion 

(B) NhaVs dVko  (B)  Splash erosion 

(C) pknj dVko  (C)  Sheet erosion 

(D) ok;q vijnu  (D)  Wind erosion 

33. e`nk vijnu gS ,d % 
 

33. Soil erosion is a : 

(A) rhu pj.k dh izfØ;k  (A) Three-stage process 

(B) nks pj.k dh izfØ;k  (B)  Two-stage process 

(C) ik¡p pj.k dh izfØ;k  (C)  Five-stage process 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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34. feV~Vh esa csap VSjsflax vko’;d gS % 
 

34. Bentch terracing is necessary in soil : 

(A) 1% <ky  (A) 1% slope 

(B) 5% <ky  (B)  5% slope 

(C) 16-33% <ky  (C)  16-33% slope 

(D) 50% <ky  (D)  50% slope 

35. o”kkZ dh cw¡nksa dk lcls lkekU; vkdkj gS % 
 

35. The most common size of raindrop is : 

(A) 5 feeh-  (A) 5 mm 

(B) 3 feeh-  (B)  3 mm 

(C) 4 feeh-  (C)  4 mm 

(D) 7 feeh-  (D)  7 mm 

36. bjksfMM e`nk;sa gSa % 
 

36. Eroded soils are : 

(A) ikS/kksa ds iks”kd rRoksa ls Hkjiwj  (A) Rich in plant nutrients 

(B) ikS/kksa ds iks”kd rRoksa ls jfgr  (B)  Devoid of plant nutrients 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. viokg vkSj feV~Vh ds uqdlku dh x.kuk 

fdlds }kjk dh tk ldrh gS \ 

 
37. Runoff and soil loss can be calculated by : 

(A) jkelsj dk lw=  (A) Ramser’s formula 

(B) psfiy lehdj.k  (B)  Chepil’s equation 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr lHkh  (D)  All of the above 
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38. tyk’k; esa dVko dks jksdus dk lcls vPNk 

lk/ku gS % 

 
38. Best means of arresting erosion in 

watershed area is : 

(A) leksPp esM+cUnh  (A) Contour bunding 

(B) Js.khc) esM+cUnh  (B)  Graded bunding 

(C) csap VSjsflax  (C)  Bentch terracing 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

39. izkd̀frd {kj.k dks vkSj fdl uke ls tkurs gSa \ 
 

39. Natural erosion is also called as : 

(A) ekuo&fufeZr {kj.k  (A) Man-made erosion 

(B) Rofjr {kj.k  (B)  Accelerated erosion 

(C) HkwoSKkfud {kj.k  (C)  Geological erosion 

(D) d`f=e {kj.k  (D)  Artificial erosion 

40. viokg dks fdlds }kjk dbZ xquk c<+k;k tk 

ldrk gS \ 

 
40. Runoff can be increased several folds  

by : 

(A) iRFkj dh lQkbZ  (A) Stone clearing 

(B) lejs[k.k  (B)  Smoothing 

(C) la?kuu  (C)  Compaction 

(D) mi;qZDr lHkh  (D)  All of the above 



 

SSAC-5005 ( 14 )  Set-D 

41. fuEufyf[kr esa ls dkSu&lk e`nk {kj.k dk 

dkj.k ugha gS \ 

 
41. Which of the following is not a cause of 

soil erosion ? 

(A) tyfudkl  (A) Drainage 

(B) ouksa dh dVkbZ  (B)  Deforestation 

(C) vi{k;  (C)  Weathering 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

42. dkSu&lk dkjd vLFkk;h vkSj fujarj tyHkjko 

iSnk djrk gS \ 

 
42. What factor creates temporary and 

continuous waterlogging ? 

(A) ck<+ ds dkj.k tyeXu gksuk  (A) Submergence due to floods 

(B) ¶ysV LFkykd`fr  (B)  Flat topography 

(C) vHks| ck/kk  (C)  Impervious obstruction 

(D) vR;f/kd o”kkZ  (D)  Excessive rains 

43. dsUnzh; ‘kq”d Hkwfe d`f”k vuqla/kku laLFkku fLFkr 

gS % 

 
43. Central Research Institute of Dryland 

Agriculture is located at : 

(A) dkuiqj esa  (A) Kanpur 

(B) tcyiqj esa  (B)  Jabalpur 

(C) tks/kiqj esa  (C)  Jodhpur 

(D) gSnjkckn esa  (D)  Hyderabad 
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44. fuEufyf[kr esa ls fdl {kj.k dks lkekU; 

tqrkbZ }kjk vklkuh ls gVk;k tk ldrk gS \ 

 
44. Which of the following erosion can be 

easily removed by normal tillage ? 

(A) xyh dVko  (A) Gully erosion 

(B) ‘khV dVko  (B)  Sheet erosion 

(C) fjy dVko  (C)  Rill erosion 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. ge tyHkjko dks dSls jksd ldrs gSa \ 
 

45. How can we prevent waterlogging ? 

(A) feV~Vh dh lajpuk vkSj tyfudklh esa 

lq/kkj djds [ksrh ds ek/;e ls 

 (A) Improve soil structure and drainage 

through cultivation 

(B) mBh gqbZ D;kfj;ksa esa ikS/ks mxkdj  (B)  Grow plants in raised beds 

(C) NksVs Vhys ij isM+ksa dks yxkus ij fopkj 

djds 

 (C)  Consider planting trees on a slight 

mound 

(D) mi;qZDr lHkh  (D)  All of the above 

46. vijnu dh izfØ;k esa foy;u }kjk inkFkks± dks 

gVkuk dgykrk gS % 

 
46. In the process of erosion, the removal of 

materials by solution is called : 

(A) la?k”kZ.k  (A) Attrition 

(B) tax  (B)  Corrosion 

(C) lsfiax  (C)  Sapping 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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47. dVko izfrjks/kh Qly gS@gSa % 
 

47. Erosion resisting crop(s) is/are : 

(A) ?kkl  (A) Grasses 

(B) Qfy;k¡  (B)  Legumes 

(C) vukt  (C)  Cereals 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

48. e`nk laj{k.k loksZŸke rjhds ls 
----------------------

 }kjk 

izkIr fd;k tk ldrk gSA 

 
48. Soil conservation can best be achieved by 

having .................... 

(A) foaM LØhu  (A) Wind screens 

(B) vPNk ikS/kk doj  (B)  Good plant covers 

(C) de o”kkZ  (C)  Low rainfall 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

49. ok;q vijnu eq[;r% fdlds dkj.k gksrk gS \ 
 

49. Wind erosion is mainly due to : 

(A) ,d rst gok  (A) A strong wind regime 

(B) de ok;qe.Myh; vknzZrk  (B)  Low atmospheric humidity 

(C) mPp lkSj fofdj.k  (C)  High solar radiation 

(D) mi;qZDr lHkh  (D)  All of the above 

50. o”kkZ ds dkj.k eSnkuh bykdksa esa feV~Vh dk 

dVko fdlds }kjk ‘kq: fd;k tkrk gS \ 

 
50. Soil erosion in plains consequent to rain- 

fall is initiated by : 

(A) ‘khV dVko  (A) Sheet erosion 

(B) fjy vijnu  (B)  Rill erosion 

(C) xyh vijnu  (C)  Gully erosion 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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51. Hkwfe [ksrh ds fy;s mi;qDr lewg esa dqy oxks± 

dh la[;k gS % 

 
51. Total number of classes in the group, land 

suitable for cultivation is : 

(A) nks  (A) Two 

(B) pkj  (B)  Four 

(C) N%  (C)  Six 

(D) vkB  (D)  Eight 

52. Hkkjr esa igyh ckj ntZ e`nk laj{k.k vuqla/kku 

fdl o”kZ ‘kq: gqvk \ 

 
52. The first recorded Soil Conservation 

Research in India started in which year ? 

(A) 1923  (A) 1923 

(B)  1935  (B)  1935 

(C)  1974  (C)  1974 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

53. e`nk la?kuu % 
 

53. Soil compaction : 

(A) ikuh ds {kj.k dks c<+krk gSA  (A) Increases water erosion. 

(B) gok ds {kj.k dks c<+krk gSA  (B)  Increases wind erosion. 

(C) ikuh ds {kj.k dks de djrk gSA  (C)  Decreases water erosion. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

54. e`nk vijnu dk eq[; ladsrd gS % 
 

54. Main indicator of soil erosion is : 

(A) ouksa dh dVkbZ  (A) Deforestation 

(B) vkstksu ijr  (B)  Ozone layer 

(C) oujksi.k  (C)  Afforestation 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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55. o”kkZ] cgrs ty ;k ok;q dh vi{k;h ‘kfDr 

dgykrh gS % 

 
55. The erosive power of rainfall, running 

water or wind is called : 

(A) dVko  (A) Erosivity 

(B) viokg  (B)  Runoff 

(C) {kj.k’khyrk  (C)  Erodibility 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

56. ty vijnu ds dkj.k feV~Vh dk dkSu&lk 

d.k nwj LFkkuksa ij cl tkrk gS \ 

 
56. Which soil particle settles at distant 

places due to water erosion ? 

(A) ctjh  (A) Gravel 

(B) ckyw  (B)  Sand 

(C) xkn  (C)  Silt 

(D) Dys ¼feV~Vh½  (D)  Clay 

57. fuEufyf[kr esa ls dkSu&lk e`nk laj{k.k mik; 

Hkkjr esa lcls yksdfiz; gS \ 

 
57. Which of the following soil conservation 

measure is the most popular in India ? 

(A) csap Vsjsflax  (A) Bentch terracing 

(B) daVwj ca/ku  (B)  Contour bunding 

(C) daVwj fLVªi  (C)  Contour strip 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. <yku ls gksus okys feV~Vh ds uqdlku ij 

igyk lEcU/k fdlds }kjk fn;k x;k \ 

 
58. The first relationship on soil loss to slope 

length was given by : 

(A) tsax  (A) Zeng 

(B) elxzso  (B)  Musgrave 

(C) fLeFk  (C)  Smith 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

59. ènk {kj.k dks fdlds }kjk jksdk tk ldrk gS \ 
 

59. Soil erosion can be prevented by : 

(A) tksjnkj ckfj’k  (A) Heavy rains 

(B) vf/kd pjkbZ  (B)  Overgrazing 

(C) oujksi.k  (C)  Afforestation 

(D) mi;qZDr lHkh  (D)  All of the above 

60. ekuo&fufeZr vijnu eq[; :i ls fdlds 

dkj.k gksrk gS \ 

 
60. Man-made erosion is primarily caused by : 

(A) ikuh vkSj ekuo  (A) Water and men 

(B) gok vkSj tkuoj  (B)  Wind and animals 

(C) ikuh vkSj gok  (C)  Water and wind 

(D) i’kq vkSj ekuo  (D)  Animals and men 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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